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MATHEMATICS-II
Paper=MMath-102-E
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Note : Attempt five questions in all, selecting at least
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one question from each Unit. All questions carry
equal marks.

UNIT-I

Find the inverse of

i1 3]
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Determine the values of & for which the following
gset of equationt may possess non-trivid
solution :

Sxy T Rg—fg=0
4}:1—2?{2—3?\7&:0
2z y Ry +hxg=0.

For each permizsible value of i determine the
peneral solution.

Btate Cavlev-Hamilton theorem, use it to find

[l o
Bar A=l ;
A=af 3 _1-‘
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Hermitian matrix, where A* is the conjugate
transpose of A,

UNIT-II

Solye Zydz+x(2 log x—yidy=0.

Fipd the orthogonal trajectory of the family of
curves r=a =in nd.

Solve (Dﬁ—4}r+4f|}'=81232"sin ax.
Solve by the method of variation of parameters

dly _d
—u-‘T’:T— Y oy ZeTtans
dx* dx

INIT-III
Find the Laplace transform :
~3
(i) [J‘ e
Wt

(i) | t=DI]+]t+1 ] t=0

ik} Find the inverse Laplace transform of
=
st 145
6. {a} Bolve by the use of Laplace transform
xdzjr + dy +xy = 0,900 = 2,50} = 0.
PR o ey
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{b} Solve the following simultaneous equation by
the use of Laplace transform :

dz dy : :
T = et,ﬁ + % = gint, with x{(00=1, ¥{0)=0,
UNIT-IV

T. la) Solve :
(x=¥) (pa—qyl=(p-g}*.
b1 Solve :
Zzepl oy 2yi=0.
8. (&) Solve ;

=04 i
Bz _oa77

(b} Solwe :

26t + 8xy

fua 3211
o anct
with boundary conditions
uix, 00=3 zin nmx w(t)=0 and u{l.t)=0,

where Q<x<=1, t=0.
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